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Q1.| (@) | Show with a help of an equation that the differentiation of a function in time domain | Marks
results in the multiplication by jw in frequency domain. 06+08
CLO 3
(b) | If O[O]=00[0]=-00[0=0]+ 000 =0]
O[0] = oo[o] + ofo = 0] + 000 = 0]
Produce Y(z) and y[n]
Q2. - _ =0/0 —-0=0=<s1[ Marks
O=y 10
/1 I=s0s=s0
Retrieve the Fourier series for the given function. CLO3
Q3. f o()="" *t_— Marks
(O + 00 =10) 10
Retrieve x[n] using inverse Z-transform method. CLO3
Q4. Express the transfer function using the given data. Marks
-0 =0 U 09
A=[ 1 B=[ 1 C=[0 0] D=[0] 03
Q5. Apply Fouriertransformonthe signal, x (t) =e =2 u (t) where u (t)isaunitstep Marks
function. 07
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Ql. | (a) | Show with a help of an equation that the differentiation of a function in time domain | Marks
results in the multiplication by jw in frequency domain. 06+08
CLo3
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b 1 xn] = 20n] - 48[n- 2]+ 20[n- 3]
hin) = 36[n] + 8n- 1]+ 28[n-2]
Produce Y[z] and y[n]
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(-m/2 —-m=x=0
ftx)_{ﬂ/?. Dsxs=m
Retrieve the Fourier series for the given function.
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f X(z) = /[zz 23 !
Retrieve x[n] using inverse Z-transform method. (103

we) = 1
T ks -3
= W@ 32062+
% g2
. B e ey
D (2 =4 >L‘-2‘\'3)
D T o
= (% (2* 3) = % 5
Lxy 7 - -
A= +3) 4 ¢ (2-1) -@
Q\,Qv'\\ns Y= =3 i\ E’o\/ @)
g &"'))B’V} 2 A(}rl\"&) . ‘{5('3~'\>
,(3\’%— 2 A(o\ A %((’\4}
1 = BEp
,3( _}/
b 1
NO\’\\n ('« 4’ é, L /l

i o,

L

/ ".‘




LY %3 = ALY el 2]
n &L AU'\) 5?(5(0)
i TR AW 4 ©

A=A
Now Wb vaae oF 4§ g i

« O

(}_3.’\;?;— = ..-———r/‘ * A
(a) (28) (24) (2-3)

r)

W (2 = 5 R -
2= 243

TS wvevse T - bvam
Wt w :(Y“\Li'f\’:‘ 50{\%{ 5




Q5.

Apply Fourier transform on the signal, x (t) = e ~* It

function.

u (t) where u (t) is a unit step
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